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Tom walked into a shop. It had a sign outside, “Second hand( IH )

clothes bought and sold. "He was carrying an old pair of trousers and asked
the owner of the shop, “How much will you give me for these?” The man
looked at them and said, “Two dollars. ™

“What?"said Tom. “I had guessed they were worth at least five. ”

“No, "said the man, “they aren’t worth a cent more than two dollars. ™

“Well, "said Tom, taking two dollars out of his pocket, “Here’s your
money, these trousers were hanging outside your shop. The list price( fft
#4) of them was six dollars and half. But 1 thought that was too much
money, so | wanted to find out how much they were really worth. ”

Then he walked out of the shop with the pair of trousers and

disappeared( 1§ % ) before the shop owner could think of anything to say.

BRI ER TR U FHREER,
1. At first the owner of the shop thought that Tom

A. was trying to fool him B. was trying to steal the trousers

C. wanted to sell the trousers D. wanted to buy the trousers
2. The owner of the shop

A. would give Tom two dollars

B. would pay three dollars

C. would pay five dollars

). would give Tom six dollars and a half




3. The shop owner insisted( 4% %) that the trousers were only two dollars

because

A. he wanted 1o sell them cheaply

=

he wanted to buy them cheaply

he didn’t like the trousers

they were old and dirty

4. In fact( 3L | ) ,the trousers -
. were being hung inside the shop

oo

. were stolen by Tom from the shop

. were the shop owmer's

o0 % =

. were Tom's
5. From the story we know that .
A. the owner bought the trousers for two dollars
B. Tom sold the trousers one and a half dollars
C. The owner bought the trousers three dollars
D. Tom bought the trousers for half of four dollars
2%
CABCD
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One summer, a library in Texas in the United States was having a
terrible problem. They had grown too big for their building and had to move
to a newly-built library across the town. When everything was finished and
paid for, they found out that they hadn’t left enough money to move their

14 mountain of books to the new library. Even the cheapest moving company

L
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(4] )was going to ask for several hundred thousand dollars to pack and
move the books. What could they do? Finally one clever librarian had a
bright idea. She said that the move was going to take all summer and during
that time, the library would be closed. Why nat ask everyone to come in to
borrow 20, 40, or 100 books? At the end of the summer they could return
them to the new library. The idea worked beautifully and not only did the

library save a lot of money, people also read a lot of books.

BEEAE S, U H EEEI E BT IR B sl R LT 48R FRIBEEE R,
1. Which is the best title for the reading?
A. A New Library. B. An Unusual Problem.
C. Helpful People. D. Too Many Books.
2. The old library
A. would be closed

B. would be moved to another town

C. was going to pay the moving company
D. was asking for money from the new library
3. The word “pack” in the reading means .
A. repair B. look after
C. put into cases D. spend out
4. The terrible problem for the old library is that
A. they had grown too big
B. they had to move to a newly built library
C. they didn’t have enough money to move their books

D. people of the town wanted to borrow all the books

5. From the reading we learn that
A. the library moved the hooks without paying any money
B. people in town bought all the books in the old liblary




C. the moving company did the moving work beautifully
D. the moving work would start at the end of summer

e
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People living in different countries made different kinds of words.
Today there are about fifieen hundred languages in the world. Each contains
(2% ) many thousands of words. But we do not need all these words. To
read a short story you need to know only about two thousand words. Before
you leave a middle school, you will leamn only one thousand more.

The words you know are called vocabulary( i5]i[_). You should try to
make your vocabulary bigger. Read as many books as you can. There are a
lot of books written in easy Enghsh for you 1o read. You will enjoy them.
When you meet a new word, look it up in your dictionary. Your dictionary
is your most useful book.

RiEE S, SRR AT R A FHREER,
1. The number of different languages spoken is about .
A. 150 B. 1,500 C. 500 D. 15,000

2. Before you leave a middle school, you'll learn __ .
A. only about two thousand words
B. five hundred thousand words
v C. three or four thousand words
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D. only one thonsand more words
3. Each language usually contains .
A. two thousand words
B. hundreds of words
C. different kinds of words
D. many thousands of words
4. To make your vocabulary bigger, you must .
A. read as many books as you can
B. get as many dictionaiies as you can
C. buy a lot of bnoks
D. have a very large English dictionary
5. You will enjoy
A. your vceabulary
B. the books written in easy English
C. your dictiorary
D. finding new words in a dictionary
FX ¥
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Ryan Ruby is ten years old. He loves to watch TV. But for one full
year, he didn’t watch TV at all. Why? Ryan’s mother thought he watched
too much TV. She said she would give him $ 600 if he didn’t watch TV for

a year.
At first, Ryan's mother was very happy. Ryan read the newspaper, {¥4




